ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025058

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 YV CWD T055201C	CWD-0-(204)T	LOCAL	YAVAPAI	NORTHCENT	0		Vian Rashid

Highway Termini Location	Work Description
--------------------------	------------------

• CITY OF COTTONWOOD

• MAIN ST 10TH ST - SR 89A

PEDESTRIAN IMPROVEMENTS

Printed: 9/23/2025 Page 1 of 7

BID RESULTS FOR 2025058

Bid Opening Date: 8/15/2025, Prequalification Required, Engineer Specialist: Vian Rashid

Completion Date:

85 Working Days

The proposed project is located in Yavapai County within the City of Cottonwood. The work consists of pedestrian improvements on Main Street from 10th Street to SR 89A. The work includes reconstructing portions of the existing sidewalk, sidewalk ramps, and driveways along this 1.3-mile segment of Main Street to provide continuity for pedestrians. The works also includes landscape restoration, re-striping, and other related work.

Bid Rank	Compared To Department Estimat O	ption # Bid Amount	Contractor	Extended Sum of Items
	+%	\$1,004,479.00	DEPARTMENT ESTIMATE	\$1,004,479.00
1	+.9%	\$1,013,685.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$1,013,685.00
2	+11.2%	\$1,116,494.40	STANDARD CONSTRUCTION COMPANY, INC. 810 E WESTERN AVE AVONDALE, AZ 85323-	\$1,116,494.40
3	+40.3%	\$1,408,871.25	FALCONE BROS & ASSOCIATE INC. 15885 N. EQUESTRIAN TRL TUCSON, AZ 85739-	\$1,408,871.25
4	+77.2%	\$1,780,000.00	K.A.Z. CONSTRUCTION, INC. 1138 S SANTA RITA AVENUE TUCSON, AZ 85719-	\$1,780,000.00

Winning Bidder is 0.9% Over Department Estimate (Difference = \$9,206.00)

Printed: 9/23/2025 Page 2 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
2020020	L.FT.	REMOVAL OF CONCRETE CURB					
Bid Rank	Department	Estimate	238.000	\$25.000	\$5,950.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$55.000	\$13,090.00	+120.0%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$38.000	\$9,044.00	+52.0%	
3	FALCONE E	BROS & ASSOCIATE INC.		\$30.000	\$7,140.00	+20.0%	
4	K.A.Z. CON	STRUCTION, INC.		\$15.000	\$3,570.00	-40.0%	
2020021	L.FT.	REMOVAL OF CONCRETE CURB AN	ND GUTTER				
Bid Rank	Department	Estimate	1,420.000	\$20.000	\$28,400.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$30.000	\$42,600.00	+50.0%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$50.000	\$71,000.00	+150.0%	
3	FALCONE E	BROS & ASSOCIATE INC.		\$20.000	\$28,400.00	+0.0%	
4	K.A.Z. CON	STRUCTION, INC.		\$15.000	\$21,300.00	-25.0%	
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWAI	LKS, DRIVEWAYS ANI	O SLABS			
Bid Rank	Department	Estimate	9,142.000	\$5.000	\$45,710.00		
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$6.000	\$54,852.00	+20.0%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$7.500	\$68,565.00	+50.0%	
3	FALCONE E	BROS & ASSOCIATE INC.		\$8.000	\$73,136.00	+60.0%	
4	K.A.Z. CON	STRUCTION, INC.		\$10.000	\$91,420.00	+100.0%	
2020065	EACH	REMOVAL OF TREES					
Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$900.000	\$900.00	+80.0%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$1,900.000	\$1,900.00	+280.0%	
3	FALCONE E	BROS & ASSOCIATE INC.		\$2,000.000	\$2,000.00	+300.0%	
4	K.A.Z. CON	STRUCTION, INC.		\$150.000	\$150.00	-70.0%	
2020115	EACH	REMOVE (SHRUBS)					
Bid Rank	Department	Estimate	23.000	\$40.000	\$920.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$40.000	\$920.00	+0.0%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$255.000	\$5,865.00	+537.5%	
3		BROS & ASSOCIATE INC.		\$75.000	\$1,725.00	+87.5%	
4	K.A.Z. CON	STRUCTION, INC.		\$50.000	\$1,150.00	+25.0%	
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEME	NT				
Bid Rank	Department	Estimate	1,839.000	\$30.000	\$55,170.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$41.000	\$75,399.00	+36.7%	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$15.750	\$28,964.25	-47.5%	
3	FALCONE E	BROS & ASSOCIATE INC.		\$80.000	\$147,120.00	+166.7%	
4	K.A.Z. CON	STRUCTION, INC.		\$40.000	\$73,560.00	+33.3%	
3030022	CU.YD.	AGGREGATE BASE, CLASS 2					
Bid Rank	Department	Estimate	402.000	\$140.000	\$56,280.00		
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$230.000	\$92,460.00	+64.3%	

Printed: 9/23/2025 Page 3 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
3030022	CU.YD. AGGREGATE BASE, CLASS 2					
Bid Rank	Department Estimate	402.000	\$140.000	\$56,280.00		
2	STANDARD CONSTRUCTION COMPANY, INC	C.	\$240.000	\$96,480.00	+71.4%	
3	FALCONE BROS & ASSOCIATE INC.		\$100.000	\$40,200.00	-28.6%	
4	K.A.Z. CONSTRUCTION, INC.		\$250.000	\$100,500.00	+78.6%	
4090003	TON ASPHALTIC CONCRETE (MISC	CELLANEOUS STRUCTURA	AL)			
Bid Rank	Department Estimate	210.000	\$250.000	\$52,500.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$250.000	\$52,500.00	+0.0%	
2	STANDARD CONSTRUCTION COMPANY, INC	C.	\$480.000	\$100,800.00	+92.0%	
3	FALCONE BROS & ASSOCIATE INC.		\$600.000	\$126,000.00	+140.0%	
4	K.A.Z. CONSTRUCTION, INC.		\$600.000	\$126,000.00	+140.0%	
5050201	EACH RESET FRAME AND COVER F	OR MANHOLE				
Bid Rank	Department Estimate	1.000	\$2,500.000	\$2,500.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$2,600.000	\$2,600.00	+4.0%	
2	STANDARD CONSTRUCTION COMPANY, INC	C.	\$800.000	\$800.00	-68.0%	
3	FALCONE BROS & ASSOCIATE INC.		\$12,500.000	\$12,500.00	+400.0%	
4	K.A.Z. CONSTRUCTION, INC.		\$2,500.000	\$2,500.00	+0.0%	
6070060	EACH FOUNDATION FOR SIGN POS	T (CONCRETE)				
Bid Rank	Department Estimate	2.000	\$450.000	\$900.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$650.000	\$1,300.00	+44.4%	
2	STANDARD CONSTRUCTION COMPANY, INC	С.	\$970.000	\$1,940.00	+115.6%	
3	FALCONE BROS & ASSOCIATE INC.		\$550.000	\$1,100.00	+22.2%	
4	K.A.Z. CONSTRUCTION, INC.		\$500.000	\$1,000.00	+11.1%	
6080120	EACH SIGN (RELOCATE)					
Bid Rank	Department Estimate	2.000	\$500.000	\$1,000.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$750.000	\$1,500.00	+50.0%	
2	STANDARD CONSTRUCTION COMPANY, INC	С.	\$750.000	\$1,500.00	+50.0%	
3	FALCONE BROS & ASSOCIATE INC.		\$1,000.000	\$2,000.00	+100.0%	
4	K.A.Z. CONSTRUCTION, INC.		\$750.000	\$1,500.00	+50.0%	
7010005	L.SUM MAINTENANCE AND PROTEC	TION OF TRAFFIC				
Bid Rank	Department Estimate	1.000	\$35,500.000	\$35,500.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$128,700.000	\$128,700.00	+262.5%	
2	STANDARD CONSTRUCTION COMPANY, INC	С.	\$103,200.000	\$103,200.00	+190.7%	
3	FALCONE BROS & ASSOCIATE INC.		\$110,000.000	\$110,000.00	+209.9%	
4	K.A.Z. CONSTRUCTION, INC.		\$100,000.000	\$100,000.00	+181.7%	
7015052	L.FT. OBLITERATE PAVEMENT MAR	RKING (STRIPE)				
Bid Rank	Department Estimate	2,130.000	\$2.500	\$5,325.00		
1	COMBS CONSTRUCTION COMPANY, INC.		\$0.550	\$1,171.50	-78.0%	
2	STANDARD CONSTRUCTION COMPANY, INC	С.	\$1.500	\$3,195.00	-40.0%	

Printed: 9/23/2025 Page 4 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

ltem Number	Unit of Measure Item Des	cription	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7015052	L.FT. OBLITER	RATE PAVEMENT MARKIN	G (STRIPE)				
Bid Rank	Department Estimate		2,130.000	\$2.500	\$5,325.00		
3	FALCONE BROS & ASS	SOCIATE INC.		\$3.000	\$6,390.00	+20.0%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$5.000	\$10,650.00	+100.0%	
7016050	EACH-DAY TRUCK-I	MOUNTED ATTENUATOR					
Bid Rank	Department Estimate		2.000	\$750.000	\$1,500.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$270.000	\$540.00	-64.0%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$1,600.000	\$3,200.00	+113.3%	
3	FALCONE BROS & ASS	SOCIATE INC.		\$1,500.000	\$3,000.00	+100.0%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$250.000	\$500.00	-66.7%	
7016067	EACH-DAY CHANGE	EABLE MESSAGE BOARD	(CONTRACTOR FURN	ISHED)			
Bid Rank	Department Estimate		266.000	\$60.000	\$15,960.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$60.000	\$15,960.00	+0.0%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$112.000	\$29,792.00	+86.7%	
3	FALCONE BROS & ASS	SOCIATE INC.		\$100.000	\$26,600.00	+66.7%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$150.000	\$39,900.00	+150.0%	
7016082	HOUR FLAGGI	NG SERVICES (LOCAL EN	FORCEMENT OFFICER	R)(WITH AGENCY VE	HICLE)		
Bid Rank	Department Estimate		80.000	\$120.000	\$9,600.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$90.000	\$7,200.00	-25.0%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$150.000	\$12,000.00	+25.0%	
3	FALCONE BROS & ASS	SOCIATE INC.		\$175.000	\$14,000.00	+45.8%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$150.000	\$12,000.00	+25.0%	
7040005	L.FT. PAVEME	NT MARKING (WHITE EXT	TRUDED THERMOPLAS	STIC) (0.090")			
Bid Rank	Department Estimate		1,335.000	\$3.000	\$4,005.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$0.760	\$1,014.60	-74.7%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$2.750	\$3,671.25	-8.3%	
3	FALCONE BROS & ASS			\$4.000	\$5,340.00	+33.3%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$10.000	\$13,350.00	+233.3%	
7042051	L.FT. REMOVA	AL OF CURING COMPOUN	D FOR STRIPING				
Bid Rank	Department Estimate		55.000	\$5.800	\$319.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$0.560	\$30.80	-90.3%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$1.200	\$66.00	-79.3%	
3	FALCONE BROS & ASS	SOCIATE INC.		\$60.000	\$3,300.00	+934.5%	
4	K.A.Z. CONSTRUCTION	N, INC.		\$15.000	\$825.00	+158.6%	
7080201	L.FT. WATERE	BORNE-TYPE I PAVEMENT	MARKING (PAINTED)	(WHITE)			
Bid Rank	Department Estimate		1,759.000	\$1.000	\$1,759.00		
1	COMBS CONSTRUCTION	ON COMPANY, INC.		\$0.210	\$369.39	-79.0%	
2	STANDARD CONSTRU	CTION COMPANY, INC.		\$1.350	\$2,374.65	+35.0%	
3	FALCONE BROS & ASS	SOCIATE INC.		\$2.750	\$4,837.25	+175.0%	

Printed: 9/23/2025 Page 5 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT N	MARKING (PAINTED)	(WHITE)		
Bid Rank	Department	Estimate	1,759.000	\$1.000	\$1,759.00	
4	K.A.Z. CON	STRUCTION, INC.		\$5.000	\$8,795.00	+400.0%
8030150	EACH	BOULDER RELOCATION				
Bid Rank	Department	Estimate	11.000	\$45.000	\$495.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$100.000	\$1,100.00	+122.2%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$1,400.000	\$15,400.00	+3011.1%
3	FALCONE E	BROS & ASSOCIATE INC.		\$300.000	\$3,300.00	+566.7%
4	K.A.Z. CON	STRUCTION, INC.		\$250.000	\$2,750.00	+455.6%
8080646	EACH	RESET FRAME AND COVER FOR VA	ALVE BOX			
Bid Rank	Department	Estimate	3.000	\$1,300.000	\$3,900.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$2,100.000	\$6,300.00	+61.5%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$790.000	\$2,370.00	-39.2%
3	FALCONE E	BROS & ASSOCIATE INC.		\$1,500.000	\$4,500.00	+15.4%
4	K.A.Z. CON	STRUCTION, INC.		\$2,500.000	\$7,500.00	+92.3%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	Estimate	1.000	\$100,000.000	\$100,000.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$118,090.000	\$118,090.00	+18.1%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$44,000.000	\$44,000.00	-56.0%
3	FALCONE E	BROS & ASSOCIATE INC.		\$200,040.000	\$200,040.00	+100.0%
4	K.A.Z. CON	STRUCTION, INC.		\$222,305.000	\$222,305.00	+122.3%
9080085	L.FT.	CONCRETE CURB AND GUTTER (C-	-5.10 TYPE D)			
Bid Rank	Department	Estimate	1,300.000	\$60.000	\$78,000.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$43.000	\$55,900.00	-28.3%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$51.000	\$66,300.00	-15.0%
3	FALCONE E	BROS & ASSOCIATE INC.		\$60.000	\$78,000.00	+0.0%
4	K.A.Z. CON	STRUCTION, INC.		\$80.000	\$104,000.00	+33.3%
9080103	L.FT.	CONCRETE CURB AND GUTTER, TY	PE C (MAG DET. 22	0-1)		
Bid Rank	Department	Estimate	41.000	\$100.000	\$4,100.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$60.000	\$2,460.00	-40.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$51.000	\$2,091.00	-49.0%
3	FALCONE E	BROS & ASSOCIATE INC.		\$100.000	\$4,100.00	+0.0%
4	K.A.Z. CON	STRUCTION, INC.		\$80.000	\$3,280.00	-20.0%
9080107	L.FT.	CONCRETE SINGLE CURB (MAG DE	T. 222)			
Bid Rank	Department	Estimate	229.000	\$45.000	\$10,305.00	
1	COMBS CO	NSTRUCTION COMPANY, INC.		\$52.000	\$11,908.00	+15.6%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$54.500	\$12,480.50	+21.1%
3	FALCONE E	BROS & ASSOCIATE INC.		\$60.000	\$13,740.00	+33.3%
4	K.A.Z. CON	STRUCTION, INC.		\$70.000	\$16,030.00	+55.6%

Printed: 9/23/2025 Page 6 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080134	SQ.FT.	CONCRETE VALLEY GUTTER (MAG	G DET. 240)			
Bid Rank	Department	Estimate	1,824.000	\$27.000	\$49,248.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$14.000	\$25,536.00	-48.1%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$25.250	\$46,056.00	-6.5%
3	FALCONE I	BROS & ASSOCIATE INC.		\$20.000	\$36,480.00	-25.9%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$91,200.00	+85.2%
9080201	SQ.FT.	CONCRETE SIDEWALK (C-05.20)				
Bid Rank	Department	Estimate	1,160.000	\$20.000	\$23,200.00	
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$14.000	\$16,240.00	-30.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$11.000	\$12,760.00	-45.0%
3		BROS & ASSOCIATE INC.		\$18.000	\$20,880.00	-10.0%
4	K.A.Z. CON	ISTRUCTION, INC.		\$25.000	\$29,000.00	+25.0%
9080297	SQ.FT.	CONCRETE SIDEWALK RAMP (DET	ΓAILS E & F)			
Bid Rank	Department	Estimate	1,818.000	\$27.500	\$49,995.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$20.000	\$36,360.00	-27.3%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$31.000	\$56,358.00	+12.7%
3	FALCONE I	BROS & ASSOCIATE INC.		\$40.000	\$72,720.00	+45.5%
4	K.A.Z. CON	ISTRUCTION, INC.		\$30.000	\$54,540.00	+9.1%
9080299	SQ.FT.	CONCRETE SIDEWALK RAMP (DET	TAIL G - INSTALL DETEC	TABLE WARNING	STRIP)	
Bid Rank	Department	Estimate	60.000	\$128.000	\$7,680.00	
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$63.000	\$3,780.00	-50.8%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$200.000	\$12,000.00	+56.3%
3	FALCONE I	BROS & ASSOCIATE INC.		\$125.000	\$7,500.00	-2.3%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$3,000.00	-60.9%
9080301	SQ.FT.	CONCRETE DRIVEWAY (C-05.20)				
Bid Rank	Department	Estimate	2,841.000	\$30.000	\$85,230.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$14.000	\$39,774.00	-53.3%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$11.500	\$32,671.50	-61.7%
3		BROS & ASSOCIATE INC.		\$25.000	\$71,025.00	-16.7%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$142,050.00	+66.7%
9080304	SQ.FT.	CONCRETE DRIVEWAY (CONNECT	TON PAVEMENT)(9")			
Bid Rank	Department	Estimate	1,389.000	\$32.000	\$44,448.00	
1	COMBS CO	INSTRUCTION COMPANY, INC.		\$15.000	\$20,835.00	-53.1%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$17.250	\$23,960.25	-46.1%
3	FALCONE I	BROS & ASSOCIATE INC.		\$25.000	\$34,725.00	-21.9%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$69,450.00	+56.3%
9080356	SQ.FT.	CONCRETE DRIVEWAY (DETAILS A	A, B & D)			
Bid Rank	Department	Estimate	6,326.000	\$25.000	\$158,150.00	
1		DNSTRUCTION COMPANY, INC.		\$18.000	\$113,868.00	-28.0%

Printed: 9/23/2025 Page 7 of 7 *** Bid Tabs for Proposal Pamphlet 2025058 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080356	SQ.FT.	CONCRETE DRIVEWAY (DETAILS A	, B & D)			
Bid Rank	Department	: Estimate	6,326.000	\$25.000	\$158,150.00	
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$14.500	\$91,727.00	-42.0%
3	FALCONE I	BROS & ASSOCIATE INC.		\$23.000	\$145,498.00	-8.0%
4	K.A.Z. CON	ISTRUCTION, INC.		\$50.000	\$316,300.00	+100.0%
9240111	L.FT.	MISCELLANEOUS WORK (LANDSCA	APING BORDER REM	OVE & RESTORE)		
Bid Rank	Department	: Estimate	233.000	\$50.000	\$11,650.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$9.000	\$2,097.00	-82.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$126.000	\$29,358.00	+152.0%
3	FALCONE I	BROS & ASSOCIATE INC.		\$75.000	\$17,475.00	+50.0%
4	K.A.Z. CON	ISTRUCTION, INC.		\$25.000	\$5,825.00	-50.0%
9240117	SQ.FT.	MISCELLANEOUS WORK (LANDSCA	APING RESTORATION	٧)		
Bid Rank	Department	: Estimate	4,820.000	\$4.000	\$19,280.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$3.450	\$16,629.00	-13.8%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$20.250	\$97,605.00	+406.3%
3	FALCONE I	BROS & ASSOCIATE INC.		\$5.000	\$24,100.00	+25.0%
4	K.A.Z. CON	ISTRUCTION, INC.		\$5.000	\$24,100.00	+25.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND	LAYOUT			
Bid Rank	Department	: Estimate	1.000	\$35,000.000	\$35,000.00	
1	COMBS CO	DNSTRUCTION COMPANY, INC.		\$49,700.710	\$49,700.71	+42.0%
2	STANDARD	CONSTRUCTION COMPANY, INC.		\$27,000.000	\$27,000.00	-22.9%
3	FALCONE I	BROS & ASSOCIATE INC.		\$60,000.000	\$60,000.00	+71.4%
4	K.A.Z. CON	ISTRUCTION, INC.		\$80,000.000	\$80,000.00	+128.6%